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Syllabus
Junior Secretariat Assistant

Test Component of the test Number of | Total Duration of the
| questions marks test

Part-1 Reasoning Ability |20 20 The test will be

Part-I1 Quantitative Aptitude 20 20 of 2 %4 hours

Part-111 General Awareness [ 30 30 duration without

Part-1V Language Competency Test (General Englishand | 30 30 any time limit
Gieneral Hindi- 15 marks each subject) , for each part of

Part-V Basic Knowledge of Computer Operation 30 30 test individually.
Total [ 130 130

Reasoning Ability

Puzzles & Seating arrangement, Data sufficiency, Statement based questions (Verbal.
reasoning), Inequality, Blood relations, Sequences and Series, Direction Test, Assertion
and Reason, Venn Diagrams.

Quantitative Aptitude

Ratio and Proportions, Time and Work, Profit and Loss, Problems on Ages, Number
System, Decimal & Fractions, Time and Distance, HCF & LCM, Percentages, System,
Decimal & Fractions, Time and Distance, HCF & LCM, Percentages, Interpretation etc.

General awareness

General knowledge and Current affairs with special emphasis in the field of education.
General Hindi

eTeR-qlehiThal, STAfSd TeieT W STERd T

General English

Verb, Tenses, Voice, Subject-Verb Agreement, Articles, Comprehension, Fill in the
Blanks, Adverb, Error Correction, Sentence Rearrangement, Unseen Passages, Vocabulary,
Antonyms/Synonyms, Grammar, Idioms & Phrases.

Basic knowledge of computer operation

Fundamentals of Computer System, Basics of Operating System, MS Office, Keyboard
Shortcuts and their uses, Important Computer Terms and Abbreviations, Computer
Networks, Cyber Security, and Internet.
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PRACTICE SET -1

=]

Directions: (Question Nos. 1 to 5)
Comprehension:
Read the given passage and answer the questions
that follow.
New York City is on 'high alert' after reporting 100
cases of a rare inflammatory disease apparently
tied to COVID-19 in children.
The city recently began reporting rising cases of
paediatric multi-system inflammatory syndrome,
an illness officials say is similar to toxic shock or
Kawasaki disease, with symptoms including a fever
and abdominal pain and which 'appears to be
linked to an immune response to COVID-19', The
New York Times reports.
City Mayor Bill de Blasio, in a press briefing on
Thursday said, "We are now on high alert in
addressing the syndrome after the number of
confirmed cases of paediatric multi-system
inflammatory syndrome in the city has reached
100." "Among those cases, 55 children have tested
positive for COVID-19 or the antibodies", de Blasio

said, "and one child has died". de Blasio had
reported 82 cases of the syndrome in the city.
These developments continue to be ‘'really

troubling' after it was previously thought that
"children seemed to have very little effect from this
disease," de Blasio said. He urged parents to call
their doctor immediately if a child had a persistent
fever, a rash abdominal pain, vomiting and
especially a combination of these symptoms.

1. When the City Mayor says, "We are now on
high alert in addressing the syndrome", he
means:

(a) people are consulting each other in panic

(b) the administration understands it's an urgent
health issue

(c) it's sad for the people who are suffering

(d) the city administration is concerned about war

2. It can be said that children are suffering from

the disease if they have the following

symptoms:

Pain in the stomach

Fever that does not go

Toxic shock

Vomiting

Pain in the whole body

(a) 1,2 and 4 (b) 2,3 and 5

(c) 3,4and 5 (d) 1,4and 5

3. The new disease is said to be a 'multi-system
disorder'. This means:

(a) it affects many body functions

(b) it affects a large number of people
(c) there are many cases

(d) it requires many tests

4. The word 'paediatric' in the passage refers to:
(a) medical care of adults
(b) stomach diseases
(c) medical care of children
(d) research in immunity

NB =

10.

11.

12.

13.

It was previously thought that 'children seemed
to have very little effect from this disease'. This
disease refers to:

(a) inflammation of organs

(b) Covid-19

(c) Kawasaki disease

(d) a multi-organ disease

Select the most appropriate meaning of the
given idiom.

A bird's eye view

(a) a cursory look (b) adetailed study

(c) aprejudiced view  (d) apersonal view

In the following question, out of the four given
options, select the alternative which means the
idiom / phrase.

A child's play

(a) Very innocent

(b) Very annoying

(c) Something that is very easy

(d) Very irritating

Select the incorrectly spelt word.

(a) assimilate (b) readable

(c) acquire (d) acknowlege

Select the most appropriate antonym of the
given word.

NOVEL
(a) fresh (b) old
(c) original (d) new

Select the most appropriate synonym of the

given word.

AUSPICIOUS

(a) suspicious (b) playful

(c) favourable (d) hapless

Select the correct active form of the given

sentence.

The environment has been ruthlessly destroyed

in this area by the growth of industry.

(a) The growth of industry is ruthlessly
destroying the environment in this area.

(b) The growth of industry will ruthlessly destroy
the environment in this area.

(c) The growth of industry has ruthlessly
destroyed the environment in this area.

(d) The environment in this area has ruthlessly
destroyed the growth of industry.

Fill in the blank with the most appropriate

word.

Second-hand furniture ........ here at reasonable
prices.
(a) were selling (b) are sold

(c) is sold (d) has sold

Select the most appropriate option to fill in the
blank.

Teachers would like
(a) having been

(c) have

a long holiday.
(b) to have
(d) having for

Practice Set -1
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14.  Select the most appropriate option to fill in the
blank.
She is as fearless ........... a tigress.
(a) also (b) as
(c) so (d) like

15.  Select the most appropriate option to fill in the
blank.

of these boys is
worthwhile.
(a) Both
(¢) None

doing anything

(b) Each
(d) Either
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| W 37 98.6 % 3§ 3Mhe

| e faeed dftged & SFeE gee
dar oy R, @ 9% 39 A W 9 fF A R
T % T 98.6 F1 3iher I Y F T 2
9 arar f6 BRI S argEe & o ISl HH Bl
UM T AIS] G 9F ST 21 39k Il JEui

16. | TH skt YT Tohawa o1 e et 772
(a) @R (b) 3TN fer@HT
(c) JAR-TgE (d) @O
17. WA IR & Amou & ded ¥ wd wew

-

(a) TSt F et Sedl H AT W A B |

(b) T % Yol AfREA B AHE 1 FH Sl ¢

(c) T MG YA & fau 98.6feh wRRRe |l
A B a1 3 |

(d) YRR 1 A9EE R & 9 dieT A iR
T % dTST W1 HH & ST 8

18.

19.

20.

21.

22,

3T | 23.

24,

25.
26.

27.

28.

29.

30.

grfes it i ufskamed & o @

Tearera oer 3Tet 872

(a) S IR & AIHE TH F AT A J

Sl

(b) V& &H H ST WHH HH A &

(c) T A9HM H TS % oI T T A &

(d) & THR I AEE GET T AIgT FH @ ST 8

98.6 o Hasl ¥ 1\ oA B-

(a) 39 AW § M F & @ F THTA A G|

(b) 39 9 § U Haigad WS 37 |

(c) T 9 § U Fer foret M8

(d) 98.6 7 ¥ U T ST

T g | BT € H o feRa?

(a) T& MA@ (b) U U fomar

(c) & 3y fopar  (d) U Taizad meE fordt

3T K T T T

(a) i off STGAT <R T B Tehell 7

(b) SR # FE awq foe s

(c) YU I SIS Foherar fer

(d) LL A

ﬁﬂﬁﬂwmm@
(b) I T

OEGIRE (d) T 9 FE T

o feheadl Uil & WER ¥er ¥ St uRads

BT & 3N AT HEA 87

(a) GHE (b) Hf¥

(c) FH (d) Sug

fr= 8 | & @ D wem aren’ v w9E '

T I1g 87

(a) AT (b) e

(c) Toeoa (d) 3T

I /T 912 ‘ 3rfieR | T wEiEaTelt §?

(a) A (b)

(c) 3T (d) e

anfawiar st wét ferudiamedsr v1eg g —
(a)%%ﬂh (b) TR

(c) forma (d) 39
ﬁﬁ?@ﬁﬁﬁﬁwwﬁwaﬁrw
g &—

(a) S R Bl

(b) H F feelt o1 @1 §

(c) R N HH FL @Al

(d) dmr s & e §
freferfiea o ¥ oG e ¥ -

(a) STrsieTsT (b) Stifsfesm

(c) Toifsifersm (d) fSrshifersT

ferdft e ot R AT FR T Y A ATl
ITeE THETAT §—

(a) &I (b) "&

(c) fomam (CORELLL
Iy ot wier ferese gem:

(a) 9F: + & (b) T + 3
(c) 9F: + 33 (d) T + 3&ft
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31.

32.

33.

34.

3s.

36.

37.

38.

General Studies

Onam is a traditional Hindu festival celebrated
11 VOUUON

(a) Andhra Pradesh/3TEasT
(b) Kerala/a
(c) Tamil Nadu/aferg
(d Karnataka/&iesh
Name the place where the Olympic games
originated? .
IH T Rl AT ST Wal SAeifueh @el ol
ety g8 ofi?
(a) Latvia/crafea (b) Adan/31&d
(c) Greece/gAM (d) Bagdad/e7Tal<
Who is the first woman to win Nobel Prize in
Physics in 1903?
1903 ® <fifqent o1 Aot JWhR Sita- et
Tgelt Afeet @i oft?
(a) Jen Adams/SH T8
(b) Marie curie/aft aRgﬂ
(¢) Jody Williams/Sitet faferamg
(d) Alva Myrdal/3TeaT =&
Who among the following is the composer of
the Sanskrit text titled 'Rasamanjari'?

HI, TS AR R T
& TR A7
(a) Bhanudatta/¥Ted  (b) Kamendaka/%HSH
(c) Bharavi/9Rfq (d) Charudatta/<mecd
Who coined the term “Ecology”?

"' 916 Rt TIAT fepEa it off?
(a) Ernst Haeckel/37& 3ehet
(b)G. Evelyn Hutchinson/stt. Tafeq gfa=a=
(c) Hugo de Vries/EE'ﬁ g A
(d)Robert Brown/3a2 s

Which of the following is a property of the wire
used for making electric fuses?

& W fage WS s e % e
SUINT i TE AR T Teh T[T &7
(a) It melts quickly/a@ 3t & el Sren 2
(b) It does not melts quickly
T A § T foEe g
(¢) Ttis bad conducter/d8 T Hrels® 2 |
(d) None of these/3TH T Hig Tl

Density of water is maximum at...........
LG T > 1 ™

(a) 12 degree Celsius/12 3731 Sfeqaq
(b)8 degree Celsius/8 3731 Tfeqaq
(c) 4 degree Celsius/4 3731 Tfeqaq
(d)0 degree Celsius/0 3731 Tfeqaq

Identify the unit of measuring intensity of
sound.

&R~ ST iTeraT AT hi TehTS hl Uge |

(a) Candela el (b) Ampere /TR

(c) Knots /Fl'ﬂf( " (d) Decibels [edEe

39.

40.

41.

42.

43.

44.

45.

Name the westernmost point of India.
O & qigrt farg o1 w9 S@Ew
(a) Amreli/3™ el (b) Dahod/RIE
(c) Bharuch/ &9  (d) Ghuar Mota/TIar
Which is the closest star to our solar system?

TS o1 Tad fHehedd aRT Shi=-9T &7
(a) Alpha Centauri/ 37T =21
(b) Beta Centauri/ ST =i
(c) Proxima Centauri/STerar I==r
(d) Barnard/sHTE
Who appoints the Chief Justice of India?
WA o g ararefivr I YT &2
(a) President of India/Rd & TFURT
(b) President of India in consultation with senior

judges of Supreme Court and High Court
AT I AEEE & AR

=reiel & wWEY ¥ 9RA & qyufy
(c) Judges of Supreme Court and High Court
Hared

AT R 3= e
(d) President of India in consultation with senior
judges of Supreme Court / AT %
aRe =T & et ¥ 9RT & qgufd

'Amuktamalyada’ one of the works of
Krishnadevaraya was written in:

. W T RIS 39
arar # foreft w8 oft

(a) Telugw/d] (b) Tamil/affa
(c) Kannada/7g (d) Sanskrit/S&hd
Which of the following archaeological sites has
evidence of pit-dwellings ?

I ¥ fore Qs Tl W -
JTETEl o ETT 872
(a) Palavoy/J@@™ (b) Rana Ghundai/ToT Hgg
(©) Mehrgarh/ﬁ%@'l'é (d Burzahom/ﬂ.?fﬁ'q
The Sikh Empire was founded by which of the
following Indian rulers?

@ T & e fetated § e
AT 9T 3 o eft ?

(a) Kharak Singh/@g f&ig

(b) Dalip Singh/feeid fig

(c) Maharaja Ranjit Singh/HgST 0Tsid &3

(d) Sher Singh/3R {48

The Act that transferred the power from the
British East India Company to the British
Crown in India was :

g A W At ar feA una ® |=n
fafeor g fgan @uft @ fafeor wea o
TR bt oft?
(a) Government of India Act, 1833
AT LR AR, 1833
(b) Government of India Act, 1835
AT THR Ao, 1835
(c) Government of India Act, 1947
AT THR ATTH, 1947
(d) Government of India Act, 1858
AT LR SAITaH, 1858
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46.

47.

48.

49.

50.

51.

52.

53.

The part of the earth's surface and atmosphere
wher;glants and animals li
g AT ATATeRT T aF & SEf urer

aﬁT AR @A S, gl 2l

(a) Lithosphere/%[zﬁ@lﬂm

(b) Biosphere/

(©) Troposphere/&ﬁw

(d Hydrosphere/%'l%@?qﬁm

The Harappan site “Manda” was situated on
the banks of which river?/ggwTg Taet ‘‘uigr’’
e =1t o feRmt feerer om?

(a) Chenab/=Asl (b) Sutlej/Taerst

(c) Ravi/TEt (d) Indus/fHg

Who was not a member of the Constituent
Assembly?/HTIeITT WU ST TSET i TE aAT?
(a) Mahatma Gandhi/®gTeT it

(b) Dr Rajendra Prasad/sf T, TR

(¢) Sardar Patel/S@R 92

(d) GV Mavalankar/Sft & dracie

Fertile riverine alluvial soil is best suited for
producing

ECEIEY z — R AR & Hh
T we e S ®

(a) Rice/Mdd (b) Tea/=md

(c) Cotton/®uTH (d) Corn/HeFnT

............ is the study or cultivation of fruit crops.

TR U T STEAI T Well Skl Shagl WTaT &2
(a) Pomology/®eishiy fargi

(b) Systemology/SuTeli-faR=

(c) Perfusinology/f@ga-fame

(d) Olericulture/afssrl it @t

Which of the following festivals in Punjab is
celebrated to commemorate the formation of

the Khalsa Panth?

PEICR:) T | HhA-91 ©ER @rerdr
T & TS o SUART H TATAT AT 82

(a) Hola Mohalla /BT Higee

(b) Teej /Tt

(c) Lohri /aiger

(d) Baisakhi /9@t

Who among the following Presidents of India
was also the deputy chairman of Planning
Commission?

aRa & frefafea wgufast & @ @E areEn
AT ok surearer oft &2

(a) V'V Giri /a1 & iR

(b) K R Narayanan /o 3 TREUH

(c) Ramaswamy Venkataraman,/JHRTH

(d) Pranab Mukherjee /0Td ﬂ@Gﬁ
International Non-Violence Day is observed

%@va&mﬁa@mmm%‘*

(a) 2 October /2 ST&REX
(b) 15 August /15 3TT& I

54.

55.

56.

57.

58.

59.

60.

(c) 31 October /31 3TERE &
(d) /14 November 14 Ha%X H
The foremost right amongs rights to freedom is

(a) frans e

(b) a3 ARG T i SR

(c) THET B F 3T

(d) wmeoT 3R Afeafts # e F1 SAfSR
Who among the following is known as ‘Sarod
Samrat’ in Indian Classical Music?

et wifa o
‘GRIg YT’ o AT W SET ST §2
(a) Kishan Maharaj /{3 #&SI
(b) Aamir Ali Khan /3R 37l @F
(c) Amjad Ali Khan /379518 37ell @
(d) Pandit Ravishankar Prasad /dfed Iawiet
ERIES
What is the unit of work done?
TRt T el WY g W B2
(a) Decibel VSEER]
(b) Joule /S[T
(c) Ampere /TFTIX
(d) Watt /a7
The Ramakrishna Mission stressed the ideal of
through social service and selfless

tion.
%ﬁmﬁmﬁmaﬁ?ﬁr:wﬁmﬁ%
ey o o 39T WX o feam

(a) bhakti /9fk

(b) salvation / ey

(c) God /97aT1

(d) education /T

In Golgi apparatus, the maturing face is
¥ W, URUST AR B R

(a) Convex /3l

(b) Bi-Concave /fg-3fada

(c) Spherical /TR

(d) Cancave /37ddct

Burning of coal is an example of

WA TTTAT T ek ISR 3
(a) Decomposition reaction /frdis sifufsmar
(b) Combination reaction /HarsH fafsan
(c) Displacement reaction /feeera= sff¥fshar
(d) Placement reaction /fgferemas atfufsran

part of xylem tissue in plants stores

food.

Uredt W WIEAW ek Rl T SIS @l
ST HTAT B

(a) Xylem fibres /SETH HIga

(b) Xylem parenchyma/STgctq Y{-hTgHT (Ja0ih)
(c) Vessels /afgf-eht

(d) Tracheids /arfget
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61.

Computer
Which of the following is an audio tool?
® ¥ FTH TAR?

(b) Avidemex/TeSHH
(d) Ardour/3ER

(a) Dyscalerf@@ﬁ'{
(c) Blender/&iex

62. Commonly used abbreviation SEO in computer

63.

64.

65.

66.

67.

sc1ence stands for ?
W

e = T @ § ?

(a) System Engine Optimization

ATEAR T ST TeRaT S aTet

ESEI

(b) Search Engine Optimization
s =}

ESEI

(c) Structured Engine Optimization

ESC]

(d) Single Engine Optimization

Uehel gSIH
To easily access commonly used commands and
tools in a word processor use the bar.

T 3 4R W [ TS T oot
HHE IR T dh UgH AEH o9 o fow
Tore oI AT SUENT BT &7
(a) Home/8M (b) Title/ZEaA
(c) Menu/Aq (d) Tool/Zd

What is collection of information saved as a
unit called?

(a) Fﬂe/tméa (b) Folder/®icst
(©) Document/@’lﬂﬂ'ﬁ? (d) Program/Fﬁ’,TP-'l

is an attempt to obtain sensitive
information such as username, password and
credit card details, etc. for malicious reasons,
by posing as a trustworthy source in email :

TUIGATYUT HRON & oI 30t o @9 o T
fagafiT ©a & 0 ¥ Wiga ek, SUANTHRAt
|, urEeas SR whige e faawur smfe Srf
Hagiid et & w wEE
HEATAT 2

(a) Peeping/difiT (b) Phishing/ff31T

(¢) Doctoring/SaRT  (d) Cheating/difeT
........... is a way to quickly access a favourite
website by saving it in your browser.

........... T it ¢ 8 9] ¥ 899 &1 ™
U WAUHE JSWIEE ek G UGS ST Hehal g
(a) Cookie/gh! (b) Bookmark/gHHTeh
(c) Blog/sdmT

(d) Both bookmark and blog/JeHTeh TT AT AT
In context of Internet, what is the full form of
MAN?

Fee & Hed ¥, MAN &7 qui ®9 &= 872

(a) Massive area network

(b) Metropolitan area network

i JeEm

X

68.

69.

70.

71.

72.

73.

74.

(c) Makshift area network
A

(d) Master area network
AR TRAT Heaeh
Which of the followin%is NOT an operating
system? | Teh SATRFET
faeew =t 87
(a) Google Chrome/TTel Eak|
(b) Linux/c=eq
(¢) Microsoft Windows/ATgshiaiue gt
(d) MS-DOS/TA.TH. €
Which of the following is a logic gate?/
frrafefaa § & SiA-91 U it ‘%2‘ 2?7
(a) AND/TTE
(b) OR/3R
(c) NAND/Ats
(d) All are logic gates/94l IS ﬁ{g g

A language used to control the tasks of the
computer itself, such as starting other
programs, is..........

R G T8
&, = e w0 & g s@ae = 9=
aTeft TeR WreT shie ot 37

(a) Command Language/ A GIEE

(b) Machine Language/T39 o

(c) Markup Language/HTE%E'Tq GIEE]

(d) Style Sheet Language/<Tzd 3 s
............... is a language for the specification of
procedures for the retrieval (and sometimes
also modification) of information from a

database./ T T Y (AR
Fefi-weft Trew § guw) A & fau e
ATHT hT SUSNT feRaT T 82

(a) High Level Language/’&'TSg NESBSIEE!

(b) SQL/UH.F el
(¢) Query Language/ﬁﬁ'ﬁ SIEE]
(d) 4GL/4ST.Td.

Which circuit is used to store one bit of data?
T e ser % 6 % fau e wfhe @
T BT &2

(a) Register/IR™TE (b) Flip Flop/f%q wAlg
() Vector/daeT (d) Encoder/T-ehgX

All the arithmetic and logical operations in a
computer are done by............

TH
TRATA T cevvenns BRI feRar T €1

(a) ALU/TEaT

(b) CU/E

(c) Register/TSRX

(d) None option is correct./®IE fahed T&l T2l 81

Arithmometer was invented by

) PO ST ATMfasRR feRam T=IT
oml

(a) Evanglista Torricelli/ TaIferer SHE
(b) Charles Xavier Thomas/9cd SIfeeR ofqg
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75.

76.

77.

78.

79.

80.

81.

82.

83.

(c) Edward Tellerf@\a’eF EAGEN
(d)Gustav Tauschek/T&a STH

What is the type, submitted or transmitted data
called in a computer system?

HIST 23T, ST I97 GO feRan s

[N

STAT STET ST HETATT 82

(a) Output/3T3ZY< (b) Input/319<

(¢) Router/T=32T (d) Modem/9ieq
Which of the following is a spreadsheet

application program ?

?g@ﬁ? YA THATRYT fAfetfaa & 9 &
arE?

(a) MS Word/MS a8

(b) MS Excel/MS TsHa

(¢) MS Access/MS E&—"@H

(d) MS Power Point/MSUeR@EE

Systems running more than one process
concurrently are called..............

W T ¥ e Uihar Q- ae=
hY T hEl I 87
(a) Multiprocessing/AeESHTET
(b) Multiprogramming/AeSfHT
(c) Real time/Sda 2189
(d) Batch processing/aa T
In Computers, Users are also known as
¥, ISr
HET I B
(a) Humanware/ﬂﬁ:laﬂ'( (b) Fireware/ FHATR
(c) Hardware/ g8 d2R (d) Freeware/
The blinking symbol on the computer screen is

called—

TR BhiA W fe@mE o aret fearteh T e

Y AT e &7

(a) Mouse/TSH (b) hand/EE

(c) cursor/&HHT (d) logo/?ﬁ"'ﬁ

The unit of measurement of a word length is

Tertt 9Teg oY TS Y HTT hT TehTS T &7

(a) Meter/HIeX (b) Byte/arse

(c)Bit/foe (d) Millimetre/fefHiex
9% Tl fgaga o SRT & Wer &

'HT:l-Fﬁ ¥, STET WHE &I § qUT M3EYS IeuH

HTt ¢ 3T uRumdt whr wfesr § g & faw

R &t §, THEedm &-

(a) ¥9< (b) HAX

(c) TR (d)

Which of the following is the basic function of a

computer?

ﬁlﬂ%ﬂhﬁ T | HIET A U HE 82
(a) input/gT9e

(b) storage/

(c) processing/SHET

(d) All of these/sTH § Tl

What is the full form of PDN?

HEu= ( PDN ) &1 Ui ®9 71 87

(a) Pocket Data Network/diehe €21 deas
(b) Packet Data Network/The 821 Jeeeh

84.

85.

86.

87.

88.

89.

90.

(c) Packet Discharged Network
Tohe fewrse

W

(d) oncket Discharged Network
diche fewarse

A2
Internet, initially started as—
Rt e d I s | 1 M % w9 H i T o)
(a) TCP/IP experiment/TCP/IP AT
(b) Network for the defence force of America

& Sl b
(c) Group of research scientists of bell Lab
[ % TH T
(d) Contribution was done by all the above

institutions/3TUh G4t

The built-in browser in Windows 10 is called:
St 10 ® fAfHea SIS et ST §—
(a) Internet Explorer/'{aﬁar TFIAR
(b) Bing/fsT
(c) Microsoft Outlook/HIEHIHTE BT
(d) Microsoft Edge/HTgshigiee TSt
fde=r 10 (windows 10) = fere o & W
fera = em?
(a) 2015 (b) 2018
(c) 2017 (d) 2010
Which of the following programmes/software is
NOT used for creating a word document?

<hl
o€ SRy oA § T R €7
(a) Notepad/:ﬁa'a—e'
(b) Adobe Acrobat Reader/Tgia Eﬁﬁé? EER
(c) Microsoft Word/ATgshiTRe. a€
(d) Word Pad/a€ T8

Which of the following applications belongs to
MS, Office"

-1 TRAKIE MS ART 1 &7
(a) Word/a”s‘c
(b) Photoshop/HIZI=ITa
(c) Gmail/siHat
(d) Chrome/sh®

includes sending, posting or sharing
negative, harmful, false or mean information
and content about someone.

W ARNIcHeR, BT-hNeR
ISt o1 UaeTsl WHeRRT AT wrmft 'ﬁmn, ure
AT T TS HIAT I B

(a) Identity Theft/9g=ra & =

(b) Cyber bullying/®gsR FfeiTT

(c) Spamming/®dfH

(d) Digital footprint/fefSee gafag

is a process in which banks acquire

details about the identity and address of the
customers.

.......... T e W ¢ R A mee
g 3R TW & 9 W ferawuT wre s #

(a) Know Your Customer/T R FEHA

(b) ATM service/TSTTH Tfdq

(¢) Online customer service/3TaET HEA FfAT
(d) Customer Services/HEEHT afdg

...........
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Math

97.

A sum amounts to I18,600 after 3 years and to
327,900 after 6 years, at a certain rate percent

91. In an examination 92% of the students passed .a.. when the interest i ded 1ly.
and 480 students failed. If so, how many students %‘l?e’svrmflils . ¢ fnferestis compounded annuaty
appeared in the examination?/Uch T 92% Hg T T ffvea arftfer wfereTd & W, 3
Wﬁ'“i'@"laﬁ”fm@f’aﬂ?ﬁ“fwwm ot % 12 T 18,600 3T 6 s 3 &€ T 27,900
T) 6OO?H gqﬁ.(b) 5800 @ N ’

a v T -
(c) 5000 (d) 6200 %-al) 14 6(§) (b) 11,800

92.  Anil bought two articles A and B at a total cost ©) ?14’400 () ?12’400
0f 210,000, He sold the article A at 15% profit| g8 A 'sum of T 6,000 amounts to T 7,800 in 4 years
and the article B at 10% loss. In the whole deal, at simple interest. If the interest rate is
he made no profit or no loss. Find the selling increased by 2.5%, then the same sum in same
price ogthe article A. > ¥ P A 3R time would amount to:

Wilﬂ,ﬂﬂﬂﬁ‘lﬁi ;‘W@IA % 6,000 F TR TR & W 4 T6F 2
B Tl 38T a%] A W 15% H T W S 7,800 E1 ST ¥1 AT X A 2.5% Fhg T W
3iT o B Y 10% <t €T OF Som 39 Q@ AR Tt e gt wETater ¥ e B smw?
o SH <RI W AT T gE1 TG A T fereha (a) 28,500 (b) 9,200
T AT SIS (c) 8,400 (d) 8,600
(a) 34,500 (b) 34,600 99. The average of thirteen number is 80. The
(c) 35,400 (d) 34,200 average of the first five numbers is 74.5 and

93. The marked price of an article is 28% higher that of the next five numbers is 82.5. The 11"
that its cost price. Find the profit or loss number is 6 more than the 12" number and the
gercentage if the shopkeeper gives 25% 12™ number is 6 less than the 13" number.

iscount. . What is the average of the 11" and the 13

T a%] & ifehd Iod 39k o god o numbers? _ L .
28% 3IASH ¥l IR THFER 25% @ T (TN e TS w1 S 80 €1 vgelt e e
AT T, AT A 3T JI T Yfer9Td J1e & AET 74.5 T AR 0 uter HEST v
(a) Loss 5%/@%: 5%  (b) Profit 5%/@¥: 5% w825 ¥ 1Al wem, 12t W ¥ 6
(c) Profit 4%/@M9: 4% (d) Loss 4%/81%: 4% arfierers € o 12 ww@, 13 off W @ 6 ww

94. A train crosses a platform 180m long in 60 sec %I 115 3f7 13 et &t aﬁ'HHER:IT%?
at a speed of 72 km/h. The time taken by the (a) 87.5 (b) 86
train to cross an electric pole is: . . (c) 87 (d) 86.5
T ¢ 72 km/h %t =TT | 60 sec & 180 m & | 100. Ifa: b =3 : 2, then (5a + 2b) : (3a + 4b) is
IEHT Sl U Sl §) U forereft & @ @t ;%lalto:

IR & W 3 T v T W oo, B a:b=3:27%, @ (5a+2b): (3a+4b)
(a) 51 sec/THTE (b) 5.1 minf&l?l? T -
(¢) 0.51 min/fime (d) 5.1 sec/ThvS (a) 19:17 (b) 8:7

95. P and Q can finish a work in 10 days and 5 () 17:14 (d) 16:15
days respectively. Q worked for 2 days and left 101. The students of a class donated a sum of
the job. In how many days can P alone finish 32,209. If each student donated a many rupees
the remaining work? as the number of students in the class, then the
P 3{R Q Us w19 T AT 10 317 5 fa7 ¥ 4w number of students in the class is:
Wm%|Qﬁ2ﬁqummwﬁ% wmw%mﬁiz,209aﬁwmw
o1E TH BIg fom sma o= @ w P 3ol £l oy ye foremeff 3 sav & wu T fEU
e o o g &Y wm@m? forew fop e o faenfyf=i i e €, @ wan
(a) 6 days/feT (b) 4 days/fea ¥ feremfif= st deemm Jra w
(c) 8days/faa (d) 10 days/fa= (a) 47 (b) 49

96. A and B together can do a piece of work in 12 (c) 53 (d) 51
days. A alone can do it in 18 days, In how many | 102. Following has the value.
days B alone can do the work? ) o=t =t W feRamT
AaﬁTB@wawwmaﬁ!zﬁqﬁ 1 (1.3 .1 2 42,

T T TR Bl A kel 39 18 T ® g0 & e Eraiel bl el
HHAT E1 B 3Thet 3T W A T feT g s
T TRl &7 (@ — (b) 3
(a) 24 days /faq (b) 36 days/fad 15
(c) 30 days/fed (d) 32 days/fe= (c) 3 (d) 4
Practice Set -1 10 YCT



103. The value of 5.8 + (7.4 +3.7x5) -6 x 2 +2.5s: Reasoning
58+ (7.4+3.7x5)—6x2+2.5% A g— 111. Five films K, L, M, N and P (not necessarily in
(a) 11 ®) 9 the same order) are shown from Monday to
(c) 10 (d) 12 Friday. Only one film is shown in a day. Each
104. What is the remainder when we divide 4*° + 7°° film is shown only once. The film K is shown on
by 652/ T 4% +7% &Y 65 W WNT oA ar Monday. Two films are shown between N and
STaReT AT BRTT? P. L is shown exactly one day after P. How
: many ﬁlmg are shown before M?
@1 (02 ©0 ()3 utar K, L, M, N @9 P (St = foF &
105. 31d1v1sor' 13 15 It;ntlle:s the q'u(:ltlen't z:l(l)df:” :T]:s =t = ﬁ ) = GHaR ¥ NETICED feamn
e remainder. e remainder is 40, find the T 3 ¥ e frew feramd
dividend./U& WTSTeh, WRTHA T 15 AT a7 et g @mﬁ?ﬁrq m@ B T Fams
IYEA T 3 TAT 1 A ATH 40 &, A 9= & < T & e
g ' Tt §1 fRew K dimaR @ feet sl 1 N
T It TqAT P & WL T el fa@s et §1 L, P
(a) 900 (b) 600 dw T T o e Wt 3 M ¥ uEe
(©) 750 (@ 1000 ot forest Featé e 2
106. A, B and C together can finish a task in 12 (a) 2 (b) 4 © 1 ) 3
days. A is twice as productive as B and C alone | 113 Radhika has secured sixteenth rank from the
can do the task in 36 days. In how many days top and thirteenth from the bottom is an
can A and B do the task l;ﬁc goes on le::tveﬁ?:r & examination. How many students are there in
A, B @ C foredt & Teh 91U 12 the class. . )
T & Ad &1 B W AT B A S IAT AR PR Eaﬁf!%mm'“é”g;ﬁﬁﬁﬁﬁ ‘ia'im'gd'gﬁ_{
IS HIAT ¢ 3 C 317eTT 36 A i 36 o @ 30 (b)ﬁ
T T Tehal 8 TS C TI W T @1 & @ A (c) 29 (d) 28
A B TireTart 30 W ol feha far & sr wir? | 113, Select the term that can replace the question
10 b) 20 marKk (?) in the following series. . .
0 15 @ 18 3 T o e &
. r s b IaTaE T9g (?) & T U 3T
107. glza.llt)ot 5:8andc:b=4:3,thena:b:cis MN, NOP, PQRS, STUVW, ?

: (a) WXYZAB (b) WXYZ
Afga:b=5:83MMc:b=4:3%, Ma:b:c (c) WXYZA (d) XYZABC
TER T : 114. Select the option that will fill in the blank and

.94 - 94 - complete the given series.

(a) 15:24:28 (b) 15:24:32 e T oTT H AT Reh T H T
(c) 5:8:6 (d)5:6:8 Eﬁaﬁrtr{r -
108. Which of the following statement(s) is/are
TERUﬁE?ﬁ 5 (14) 12623 ?bz) 4649 (¢) 54 (d) 59
. . a c
LA -HT/8 HAA T §/E? 115. Select the number from among the given
L. 3/71 <5/91 < 7/99 optlons that can replace the question mark (?)
I1. 11/135 > 12/157 > 13/181 ln the following series :
(2) Only I/3a 1 ﬁarvu% ¥ 3| TE w9 B, A
(b) Only II/Fa 11 '3":"?*'3??' ’i%@ﬂl H yyaTees g (?) o =
(¢) Both I and T/ 7T 11 2 “12"5“031*9'8' 0.2
(d) Neither I nor II/9 AT (a) 315’8 ’ > (b) 3558
109. What is the value of x so that the seven digit (c) 2550 (d) 1560
number 6913x 08 is divisible by 88? 116. Jay is husband of Geetanjali who is sister of
x & forg = & faw ara sieRl oot d@we Deepali. Deepali is daughter of Vijay. Sarita is
. mother-in-law of Rohit. Harish chander is
6913x08, T 88 | Tererewr §2 father of Jay and Sarita is wife of Vijay. Vijay
(a) 6 (b) 8 (c) 4 (d) 2 and Sarita have only two daughters. How is
110. Two numbers are 90% and 75% lesser than a Rohit related to VlJaY"
third number. By what % should the first W, I/ fdiwter o ufe & S frureft it w7 2
number be increased so that it becomes equal _fﬂ'q"T'ﬁ ﬁﬁm E) ‘3,3ﬁ 1 wRar Afed & 99 2
to the second number ? 91 S 9= & fUar § o wRar fasar @t
T G ek et @& @ 90% MW 75% wA Teft €1 fasrar o |far &t dhaw & gt
21 ugelt W # fRad % @ ghg W W Uferet =T fererar & s Haier §2
=T 1o 98 Ut ERET % SNIER & ST (2) Brother /4T¢ (b) Father / fte
(a) 250 (b) 200 (c) 150  (d) 100 (c) Son/9A (d) Son-in-law/ THE
Practice Set -1 11 YCT



117.

118.

119.

120.

121.

122.

123.

Four numbers have been given, out of which
three are alike in some manner and one is
different. Select the one that is different.
R W & T Tt T @
TAF &, Safeh Ueh 3T g1 ST T =T il
(a 191 (b) 193 (¢) 195 (d) 197
Select the word-pair in which the two words
are related in the same way as are the two
words in the following word-pair.

uR I o = v I
forft U ¥ THEEE € R U v W
T {1 STHWIH 9165 I 1 TG ST

(a) Classroom : Table Lamp
eI e : A

(b) Garden : Ladle/sI=T : higdd
(c¢) Kitchen : Fryer/TH\Tif : m%f
(d) Bathroom : Shower/dTg&H : M

'Separation’ is related to 'Unity' in the same
way as 'repair’ is related to '---——- '

YR ‘22’ 1 o ‘Thal' @ &, SH 0@
‘guR’ @ HeYy LR
(a) Sewing/f{tﬂl'{aF (b) Uncomfort/ﬂﬁfaw
(c) Damage/&fd (d) Rough/gigu
Select the option that is related to the third
term in the same way as the second term is
related to the first term :

30 foehew @1 wo= & S i U @ St

TR Fefe § 79 yeRR gE Ug uEe ue |

Heifera &7

SOLUTE : UNNTVD : : CLUTCH : ?

(a) BNTVBIJ (b) EKWSEG

(c) BNWSBIJ (d) EKTVEG

Select the option that is related to the third

word in the same way as the second word is

related to the first word :

Psoriasis : Skin :: Rickets : ?

39 Torehe T =ra ifaT fowerr fey vieg &

T Hel ¥, S g Teg T TR IR W ¥
WA « e Rohed : 2

(a) Bones/gfgai (b) Eyes/3ﬁ'@

(¢) Thyroid/T=ige  (d) Gums/Fgg

If the word SMART is coded as 191311820,

then how will word FUNNY be coded?

afe SMART 9165 &1 191311820 & ®7 #

wifea feram @M ¥, @ FUNNY 9sg &t R

YRR | hitea feram smam?

(a) 620131325 (b) 622131325

(¢) 621131325 (d) 621141425

In a code language, 'are you coming' is written

as 'gla pla sot', 'they are right' is written as 'kla

sot pom', 'are they coming' is written as 'sot pla

pom'. What is the code for 'right'?

Tch HIS 9T |, 'are you coming' ) 'gla pla
sot' o STem €, 'they are right’ T 'Kla sot
pom' fet@T STem g 3R are they coming' )
'sot pla pom' ToT@T STTAT 2l 'right' <hT HIg AT
EL

(a) pom
(c) kla

(b) sot
(d) gla

124.

125.

126.

127.

128.

129.

130.

In a certain code language, ‘LANE’ is written
as ‘KZOF’. What is the code for ‘MASK”’ in
that code language? .

Ifg ‘LANE’ &l ‘KZOF’ & &0 | %heslg TR
AT §, @ ‘MASK’ &l........ W0 W Heag fehar
SR

(a) NZTM (b) LZSK

(c) LZTL (d) NBTL

If SINK is coded as 49 and CRAFT is coded as
43, then how will PRINT be coded?

afg SINK Y 49 o &0 T THeag fhar S §

3N CRAFT & 43 % % § eag forar srar
¥, @ PRINT & TohE T Hedg ferar smam?
(a) 73 (b) 72

(c) 77 (d) 75

Which number will replace the question mark

?) in the followin%series ? .
%n:rl%-n‘aﬁ Ut W HE-H G, qyereh
og (2) = ST et 2

4,13,9,17,19, 19, 39, 23, 2,29

(a) 97 (b) 79

(c) 78 (d) 87

Five friends A, B, C, D and E are sitting
around a circular table facing the centre. D is
sitting to the immediate left of A. C is sitting to
the immediate right of B. B is not sitting
adjacent to A. Who is sitting second to the right
of D?
ufer T A, B, C, D 3R E Ta et 3 & ai:
&F @ AT BT 93 §1 D Bk A
T U | oaT g1 C 3k B o U uSE A
ST €1 B, A & A § A& 21 D F qW T
T W A ABTE ?

(a) E (b) B

(c) C (d) A

In a certain code language, "BAT" is written
as "23" and "EAR" is written as "24". How is
"HEN" written in that code language?

T AT W "BAT" @l 23 @l
"EAR" &t 24 fomar S €)1 3dt g wmr o
"HEN" &l fohe JarR et sremm?

(a) 27 (b) 24

(c) 26 (d) 23

Select the option in which the words share the
same relationship as that shared by the given
pair of words :

Numismatics : Coins

3T IE-JW H T9F HIWC HSh =kl &
e qE "oy § W QU MU g IeE-gW ok
ITERT o W B

R : faereh
(a) Semantics : Soils/31d-foFm : gal
(b) Taxonomy : Fossils/aieur foR « Stared
(c) Anthropology : Humans/ATHa-3M& : #
(d) Orography : Eggs/drafcah : i
Three of the following four number-pairs are
alike in a certain way and one is different. Pick
the number-pair that is different from the rest

R 9E&Er-gq qH

ThR THEAAH ¢ 3R Teh 0 ST0A g1 /W=
HEHAT g T =G )
(a) 4:15 (b) 6:35
(c) 7:46 (d) 9:80



SOLUTION : PRACTICE SET -1

ANSWER KEY
1. (b |14 [27.0) |40. ) |53.@ |66. b [79.(c) [92. ®b) [105.(d) |118.(b)
2. (@) |15.(c) [28.(d) |41.(@) |54.b) |67.(b) [80.(c) [93.(d) |106.(d) [119.(c)
3. (@) |16.(d)  [29.(c) [42.(a) [55.(c) |68.(a) |81.(b) |94.(a) |107.(b) |120.(b)
4. () |17.@ [30.(a) |43.() |56.(b) |69.(d) [82.(d) [95. (a) [108.(c) [|121.(a)
5. (b) |18 (b) |31.(b) [44.(c) [57.(6) [70.(a) |83.(b) |96.(b) [109.(b) |122.(d)
6. (a) [19.(c) [32.(c) [45.(d) |58.(@) |71.(c) [84.(b) |97.(d) [110.(c) [123.(c)
7. () [20.(c) [33.(b) |46.(b) |59.(b) [72.(b) |85.(d) [98.(c) [111.(d) |124.(c)
8. () [21.(c) [34.@a) [47.( |60. ) |73.() |86.(a) [99.(c) |112.d) |125.(b)
9. (b) [22.(c) |35 (@) [48.(a) |61.(d) |74.(b) |87.(b) |100.a) |113.(a) |126.(b)
10. (¢) |23.(b) [36.(a) [49. (@) [62.(b) |75. (b) [88.(a) |101.(a) |114.(d) |127.(a)
11 (c) |24. @ [37.(c) [50. @ [63.(d) |76.(b) [89.(b) [102.(d) |115.(a) |[128.(a)
12. (c) |25. () [38.(d) |51. () |64.(a) |77.(@) [90.(a) [103.() |116.d) [129.(c)
13.(b) |26.(c) [39.(d) [52.(d) |65 (b) |78. (@) |91.(a) |104.cc) |117.¢c) |130.(c)
SOLUTION

1. (b) : SR 597 &7 3f W 1% paragraph of 3 line,
that city Mayor Bill de Blasio, in a press briefing on
Thursday said, "we are now on high alert in addressing
the syndrome in the city has reached 100,"

2. (a) : SWF WA F M IW that last paragraph
symptom includes ¥ o 2T 2 if a child had a persistent

fever, a rash abdominal pain, vomiting and especially a
combination of these symptoms.

3. (a) : S T H1 1 W 1% line of 2™ paragraph
that multi-system inflammatory syndrome is similar to toxic
shock or Kawasaki disease with symptoms including - fever
& abdominal pain & which 'appears to be linked to an
immune response to Covid-19.

4. (¢) : I Passage Ed 3471?31? Paediatric refers to

medical care of children. This is given in 2" paragraph
of 1* line.

5.(b): ELRES Passage Ed 3TTER Covid-19 is the theme of

entire passage. Passage has discussed about a new
variant disease that is Covid-19. So, this refers to Covid-
19.

6.(a): fear idiom/phrase 'A bird's eye view' sl aredf 2-
'a cursory look' (HTHE SR g é‘@'vﬂ) 21

3 et & a7 forer 2-

a detailed study - SEATHS LI,

a prejudiced view - 5981 fomIR,

a personal view - SfhTd fo=R

7. (¢) fa ™ idiom/phrase 'A child's play' <hl g 2-

'something that is very easy' (3gd & mEH FE)| 3
foepeat % a1 &-

very innocent - Sigd AIEH

very annoying - Slgd A

very irritating - gd Teheirhag

8. (d) : SW faswedl H T fahed (d) Acknowlege i
ad-r Y 21 TS TS ChEil acknowledge (R
) M1 37 bt # T s 2

Assimilate-3T99HT, Readable-931, Acquire-STa HEAT|

9. (b) Novel- (731, 3R, antonym - Old (qUA) | 3T

=t & ot §-

Fresh- drei

Original- Ja&Y9

New- 931

10. (c) : Auspicious- (Y¥), synonym- favourable-

(T%ﬂ%‘"l’ﬁ )| = Tl & 4 § - suspicious -
, playful - ©=idl, hapless - 3191 |

11. (¢) : IRI% Sentence, Present perfect & Assertive

sentence T Passive 8 95T Active voice I & -

A.V. — Sub. + has/have + V> + obj. + others.

P.V.—Obj.+has/have + been + v’ + by + sub. + others.

Correct Active voice -

The growth of industry has ruthlessly destroyed the
environment in this area.

12. (¢) : SWIK a9 & R H # is sold TF &M
Fif$ furniture TH singular noun @ U1 IEH Y
singular verb ¥gth T 7

Correct sentence- Second-hand furniture is sold here at
reasonable prices.

13. (b) : ST 99 & 6 @ F to have & FM
B0, Hif% would like F 1 infinitive H T3 &Il 21

Correct sentence- Teachers would like to have a long
holiday.

14. (b) : ST & 9 sentence & f&h M W 'as' &
TR B | Hifh S Rt =Afth S wEear R 3R @
S 8, 1 as something ST AT ST 2 |

Correct Sentence -

She is as fearless as a tigress.

15. (¢) SR a9 F R @M § None F 51 39T 8T |
Rule-Both—ﬁalﬁl?ﬁ%f?’l’aﬂ'ﬁfﬁaﬁT%I

Each-a a1 & ¥ 31fYeh =ikl & {73, 99% & sense 1|
None - & § 31 =afehdl & 13, HE T2 & sense Hl
Either-?ﬁm%ﬁﬁ, W@B% sense H |

Correct sentence- None of these boys is doing anything
worthwhile.

Practice Set -1
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18. (b) TS 3R vifss wiwanst & toH 4§
A 2 9 g W IS HAS AE od 2
e sfweet % dum Rk gisfe 8 g,
SAN-Tgd 1 iyt STarS AT ST Gehal B |
19. (c) 98.6 9™ ¥ i FeFl T&I fordt M 21 98.6
ST U W HEHRT F FF & § WA g @
gl 9m ¥ Wia o 8, T for@r w8, us weizad
TS oM R FE 3 A T AW F TH W A GA
20. (c) ST gHA 7 37l 71 & § 98.6 fihe (A
IR & AEE #) W e Y A, S 3 g9 fsed w
TE fo wea TR % W Ao % fAd 98.6 @ stieReT
el ®9 § Terd 3|

21. (c) 31¥ & 1Y T AT IR H 3 A FI L
qoherd! e 81

22. (¢c) 55 99 & A & 9= &M B ) U e
F o oI A1 SIeal 1 JAT BT 81 S

o TA-fa = T 3R fa

e UY-IUF = Y R U

o T-FHT = THT S FoT

23. (b) : & fehead! 9uil & WER ¥ § S gRad— grar
?, 30 W Fed §1 Gl qem: @9 R & a8 (1
gy, (2) =em Gfy wd (3) faet @fen v % e
T F A Fed 2| AT % WY gEe §ae At
N Fed & UG F vearer & St frd e ¥ F e
3G g # fafdredr @ a4 g1

24. (2) W® @ AT IR W & (Y TH MR AT
T 8, Sefh AT gk I Th Wex S 7 Fopady
F1 AR TR Ih G Fo A’ & faU T v
‘Frgar @ 2

25. (b) ‘3FF WL U & WiEAR 21 W F 3=
YeE- T, B, A, Fe, AV, SHARAT 3|

i % THEE MR- S, WA, I, dfs, AR S
HrgT & FAtErE - g, A, Hiee, 89, 31ed S
TS & gAaTE ea-gee, T, WA, MEEe onfe |
26. (c) ferata &1 faudards ez ‘fatwrer 21 enfadta &
yfes g & 399, AW A TS B fRWE H
yifsass 37 B- 37g¥d BT, A9 g1l wiguld, snfewta s
Tl @1 g o o T e ud et & 3

‘A’ 2T B

£
%3

k)
3

~

29. (¢) : 59 vz T 50 S0 & HE A B T TE, 3
T @ed & | SI-WHT, Y A1 BT T
fopar @ TR % T 9 a9 2-
1.9 § - gl = U8 + 1
2. G H — B = &g 437 + A
3. foremoor § - e = e + o + A
fe=dt & sferprer o, o1g @ el 21 g § A e ¥
fohaT 1 WET ®Y 99 21 39 o1 & b wme B o
1 2 W S TeE @ I 8, I 1 Fed B
g + 1 = A a1, 9% + A1 = Bl
39 SR o1 o 37 f5har % Herey g 2
30. (a) : Ty &7 GRY foesg w4 g
Tgf faet ©ftr 21 afe forgl & gt ‘o @ 3R SHS A=
it & g, 5qd, oAt @ ¥, T, A, T, ¥
g @ gt &1 P oSt @ iRk W T gdadf or &
EERIUEIE R IS
- T4 = T,

T:+9 = qdiad
31. (b) STUH FA H TF TG R 2| B § 98 =R
394 B o qeEell & g § g S g1 96
TG Al % =ad 2, 598 T e A A de a@n o
AR fpam ST 21 A8 WRR fadeR 7 H S S
21 3 HA 1 oY 991 @eR 8, Y F8f W IR &
wieR durEel # @ HAE S 2| 98 SRR HHA I
% a1 HAET ST 2
32. (¢) : WM Al @at Fw #F 776 FW wd ¥ 393
29 ¥ yEfsa 59 ™ 9 ggen TS 1896
¥ wdg (fm) § syafsa frar e an R & e
(ShEidY) B enyfe Sicifs Well &1 S JE1 S
1894 H siaifed = 3iqUEa oiicifuss qfufa &1 e i
o, U qEEd quH, faesiels ¥ 21
33. (b) : ¥ 1903 § il &1 A9 SR S arel
v Afgen 98wl i 3% W fediataa &

g & fow wem foar w2 ar) QAR SH arelt
o8 THTE Higell 2 |
34. (a) : TOATAT oA/ IETH

EIGES] e

FHEH FHHEHI HIfTER

arfy [ERGIEEIREY

LS PACEIEEL

35. (a) TEWIH S T WS WO WEN 7 1869 #
SIS T2 B FAN 671 SHen W & A% W= Oikos-
house (¥%) @ Logy-study (31aa) ¥ e &1 2|
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36. (a) ¥ S TH gerERiE § RS AgE 9k
Tsh G a9d € S Ueh ad AEn © 31eh N e
W Ty & fue S 21 39 yeR uReg # Red e
ToIa 3199 3T 9N & HRUT T g § a9 9
2 WS g e e arelt uig S e, fed
fersgeng &1 51 i 2
37. (¢) ST &1 T SAf¥ehad 4°C W Bl 81 draE e s
T A STHH T 5 ST 8 3N FqH T HY & I 2
T SHHT ITT 9% o3 ST 2| FSrHh HN0T 9% A h
FW AW 21 39 uREed % SR S § @ A S
i &9 ¥ S g UH A H I © G § Hih
A & FU0 T St e A= & A H a9HE 4°C F
TG Bl 2|
38. (d) : @F F qaar AT JScIar JA I=d sl arenl A
(TR 1 S Sdwe § A S 2| At & A et
T 0T & TR FROT A TR e A G o 21
e & R fog W e 1 dea 39 g W UEE aana
Y o JvS T F oAEad oA AT A St o SUeL B
2 THRE TS H e AEe ae/diel A A/ Hel
T YA AEe S B
39. (d) 9RT SO Mers ¥ 8°4'-37°6 ITU S IR
68°7' - 97°25' Al ZeR % wed Rgd g1 g9R 2W &
afr § fe He@rR wd S # fRurerd wdd fud 21 wra
1 geg Il faeg e i qon <Rl g 9o g @
T 95 FEER 99 T § fom iRy @iz ¢, N
WIES HEl Sl °T| SAefh qfy § oy
%@%t{%ﬁftﬂ(m@qﬁ,ﬁmﬁ@?
AR 1 Ui forg TTor g # fee wivdiar (R Al @
o g&f famg srevae e § Rug fefay g
40. (c) IR =<1 gAR HREvSd & feH 9/ 2 S
T4 ¥ 4.3 e 98 R 21 T FER G AT S 'R
godt ¥ 8.6 FobIeT A 1 0 W R & qn gF &
T FTel a1 @ | 3Tl g2, SR il bl et
T gU 3 A H TR 2| WA § B Y= T M5-Ve
1 M5-Vie St &1 a7 21 frmen a1 € % a1 91 78
BIeT T SHT A ¢ A1 R TH ST a9 2
41. : (a) YRAE IMEF JOMEN &1 qE0 SMER e
AR 71 ARG S T JoTell, S SmEe SoTel @
fpeg —aTferhr THHT 21 WEMH F o9m-5 % ded
FTRE (124-147) § R & THFd A FEwAT H
T 8| Hared e & ey & ffe % ar #
T ISR 124 (2) ¥ fRar wn &1 watew = &
T T q97 3 e &t frgfe Iy s g
42. (a) : FOEEA (1509-1529) fooR wmr=T &
%ﬁmq@awmamm@m%mm;
AT § 3hT HleT ‘SAHATCIE HIfged 1 Th I & |
TS I & 33 9TE HfF I @R | o S ‘eTufamer
F T ¥ I4g 91 sfemsr avue iy am 9 = |
3Th St W IR S ‘st forar 81 Fwied
T IR &1 TeEaE IMES 971 dER J ST BT
FEEE’ H S 9RdE TSEl @ Seo@ R 7, I
TR & WEE FURT T H qHE TG B HaE
TIRATEN TTEe &8 8 | FURATT U HgH fagH, feramd

7 fagel & s ff 91 3HfAU 3R A 9 a9 I
9IS @1 S &1 TR FIS I T B FAGh I
HET ST 2| HUREE § HEhd A S Her’
3R I Ao’ F T H
43. (d) ToieH, FTR IR B QATcas qee aTer TH-
FEHR Td 1 W TR w0 2
o T W FF WA -39 9T T § 1 3
nﬁm@@mﬁgﬁgaﬂ?ﬁﬂmﬁ@m G
o FSiEM H HIfcTeh o M S T 36k ¥ UIeR] Fd & 94
& T ST
44. (¢) : 5@ FE™T A1 ‘WAd TS T 38T 1997 q& A
Tgel TR H AR SUHSTEIY o UfEERR & § gem
o1 R Wield e o )
|

3

N @ T Al 39 gEsg & faER 9 § wew &t
(THMAE) & dt qd § ufeel fiead o, qor s §
FHR T A <R § fgFeie (TfeEE) 9% 9anl g
TEST 1799 ¥ AR 1849 T ifka # T
45. (d) : 1858 & WA ImE Affem s fmfor 1857 &
fagie’ & g fohan AT R F WA H S S AT
sfafrm 9@ ¥ 9fag 39 FA 4, dw ifew SR &
EH A T fe R Tad, &6 S TerE gad
witeat fafeer Toemel (7)) i gEARa #X feam) 3@
SN TR S 1 e deas] aIed’ T fear e
qT ATE ST HI IR B TOH SEETT R T A
FET G AN (3REE) % v U § 1 TE,
1858 1 WEWHT faaiRar & SH9oT 9 I el M|
46. (b) : 9t % THEGT 9T W S oA SUAH 2, 98
e FEAEl ¢l TH gew
foremeeea e e 1 39s wo-ay faga e fafas
FIEfa, g ST 3R 9 g9 StavEd (Biosphere) &
et €1 39 fF 9 & Somsd, agHsd, Wdued|
a9 ded UH gW $ G ¥ I ¢ dl Seawvsd
(Biosphere)aﬁmﬁ?ﬁél
47. (a) : TSWE WA HET TR e (swy) F =A@ TG
F e d¢ W flug on el g TE A&,
Aig-sieel, Igael Td dednst iy 38 &
‘Gaes’ A4 % d¢ W Red 81 wded @ ’
qear &1 3ifaw

fafte ofefoal & @R e widw d@fges @fufy, S
T= g91e- gfsan e gfufa wa S, e dfaem
gl & SE Gaef qiufy & sremy 9
49. (a) : 3T A A =9 F IART & foU =g
39 7| TeliE U&T H o g b A9 F oFf S S
B3 fifgt ge g dw T S wd gl A 2
fadt s aRa & Uy # 999 ¥ A d@qul Su
YT A gC M AL &k SEE & ah
W g g, Ao, T, =@Ed, 2 e
[ genfe & |t S S R
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50. (a) : TEIAST e 3T F O 81 F8 aeard g
H TH AT B, S Bl H FIA AN 3T @t F fag
Taftd 21 eaaed @ 6 diierst & S =red SIS g,
a}qmm@ﬁaﬁqﬁaﬁw%

Sﬁﬁ?13ﬂﬁﬁl699§® & TEd
g{a TE Ma< g 4 e wifea ﬁm%
e B & T wrerr dg i o
52. (d) 315w
24 SF, 1991 ¥ 15
1996 @& W%sﬁi § ®© I THh A WA
® 7@ FHAE A A A (s yeee), 9. 4
TR, Sf. T e fig o JeAT ST & U |
SFEd, 2015 & AT AR & W W A SmET &)
T g, o ada swe o g g 8
53. (a)
st sifewn feaw ws af 2 sfaeeR & HAMET S
31 ad 2022 % fow 39 fegg @ - R w1 T Fer”
| T8 feog v 2007 § Y=F a9 HAET ST @I 21 39
Ay T % anfesis @ deem wiE & o g & Ak
T ST 2l
54. (b)
‘St 37 AR AT S ARG H Seoi@ G
F 9 -3 % I s AR F ded s -21 |
fpan T 21 DI-21 F Ted W W Bl AU
F # off wfim 98 e ST gear 21 g s
SR smfafad 8-

(i) FHMT 1 SN —> 3. 14— 18

(ii) TEAAT BT AR —> 3. 19-22

(iii) TI0T % faEs MR — 37, 23 — 24
(iv) &5 & WA H AHR —> 3. 25 - 28
(v) T e Tl SR — 1. 29 - 30
(vi) Hefeh STER S RHR —> 37, 32

i el S 2 o A 1991 F e & e # oo |5
a8 2001 H T faymor @@ @ 2011 § i@ S
STHTEHT Hellf¥Td T | TEIfd fohar T an
WWWWWW@H Teed fig
o AR 1w g e i & e s
¥ et 21
56. (b)
F @ A AW T FA ad ga & fewn § ag &
foreamge % UHwA F FeR g 21 FE U s qfe
21 FE = 9 x fawarH, WH S 1 AES 9 21 S,
et &1 ff 75 7

I AHF -
b lEC R )
tfiger - foRpd wW
g - Wk

efgma - ety i (Loudness)

57. (b)
mwﬁw@w?q{wﬁrﬁmigqlswéﬁ
& 4| $HH qEAed TS, hicTehll |s++om§@1
IRYT WA, Giftier, smefenss TR I agEr 31 8 adn
T FOT Y % s & g B FER-JER H 21 gH
Al Gar SR fred & % areEw ¥ 2y % ey W
ERERIl
58. (a)
HIRMHT F HIYH 559 § H5eh & GHY qC I ared
ST FIHT FT TesTHa Fad | THH ITRIFT 9
I STHR &1 Bl 8| TF IR H HAGIH oAl & dqieh
HEr et 7 &q Ieqell W I FR GqRTI MEATH
HIYTRT & <L Bfaq qed & TIE U uRaed d HREdr
HT 2
59. (b)
T sfufean (Sgw sifufeam)-s@ & @
de 41 A et ha Aife a9 &,
sifufFan it aeE sifufEar Fad B
a7 Affspand -
(i) foem sifufspan - = "o sifufshar & faada
SR 71
(i) fereenma safufspan — =iftes § sufed wh d
TR T % 1Y e 8 2
SH-A+BC— AC+B
(iii) Tefeorar sifufsran — gud & srem-stem i e
AT H oA & U 1 A S 81 39 39E-
farcemo sifufHar Ff Fd B
60. (b)
Uredl # @ Geaed e FlUH q9l g 9 S g |
e STecH &1 9@ F14 A " W R A A
W FEAT 81 TEAH Sl BT AT o (a%remm)
91 N A F qUERT H
gjjﬁw%w}@wwgrammwﬁw%
SR e AR A A 5 R e
T THART HET 2l
61. (d) : 3MeAT T TH UK T el ST @ S eafT
Wﬁmmwfaﬁ?ﬂ%%l afifgar <o fe
%@a‘rﬁ%ﬁm T R, xﬁsﬁw 37 RepTey,

T H e
ERIEACH |

62. (b
SEé%@Wﬁ(@H)WWﬁW?IW
AfeAESIv Uh dodEe & gvadr & yqfad &
ishar 81 T g sfiftenrssieH g & fafte weR % 9+
fRefee T ST WIS % % SR W yeRf & 1 fed
aifesd Wge H FW WM a1 ¢ qMh 36 T SAE FAH
fafsie o w1

63. (d) 98 TEF H AR W I H @& SH A
AT IR W TH TgT HEH I F [T T aR @
I fhar ST 81 T 9N Fee SRS H ot U
ARRAT 339a &I 9o & U 3w fRy 9 €)1 e
F foU How = IR, T THER ST SR, AT oo
IR R T $oH o TR o e P ST e ©
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